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—55+ (=7)=—-(B,5+7)=-12,5 :aki*
— 514,225 + (=57) = —(514,225+57)= — 571,225
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224 + 1,5 =239
112 + 58,15 = 170,15 3
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12,14 + (-25,4)= —(254—-12,14)= - 13,26
— 14,11 +36=+(36—14,11)=21,89
125+ (—45,5)= +(125-455)= 79,5

~31,65+11,5= —(31,65-11,5)= —20,15
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125,88+ (~125,88)=0 3  —3367 + 3367=0  :aki*

~359,7+359,7=0 3 11258+ (-11258)=0
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a—b=a+(-b) :obsdude e by a

2125-11,5=2125+ (- 11,5)=+(2125-11,5)=9,75  : &L *

13,55 — (- 12)=13,55 + 12 =25,55
_34-16= -34+(-16)= — 34+16)=-50
65,14 — (= 20)= —65,14+20= — (65,14 —-20)=-45,14
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A=11+( 2,5+33-1,5)+(54—11+2) :akd*
=11-2,5+33-1,5+54—-11+2

B=2,6—(— 55+ 12,44~ 58 +1)— (52— 1,5 +24,66)
= 26+55-1244 +58 — 1 — 52 +1,5 — 24,66
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A=25+(=11,5+41)—(-14+25)-7 Al *
=25-11,5+1+14-2,5-7
=25-25+1+14-11,5-7

=0+15-17,5
= (17,5-15)
=25

B=(35-1)-[-11,5+(3,5-7)-1]+22-(-5,5+3)
=35-1-[-11,5+3,5-7-1]+22+5,5-3
=35-1+11,5-3,5+7+1+22+55-3
=35-35+1-1+11,5+22+55+7-3

=0+0+46 —3
=463
=43
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